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1.  Find the following intersection of sets: 

ρȟσȟχ᷊ςȟσȟψ   

 

άȟὸȟίȟὥȟὧ᷊ᶮ   

 

2.  Find the following union of sets: 

ρȟσȟχ᷾ςȟσȟψ   

 

άȟὸȟίȟὥȟὧ᷾ᶮ   

 

3.  Solve:  σὼ ς τ and ςὼ ρ υ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4.  Solve:  σ τὼ σ ρω 
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5.  Solve:  ςὼ υ ρρ or υὼ ρ φ 

 

 

 

 

 

 

 

 

 

 

 

 

6.  Solve:  υὼ ς ρυ and ς 

 

 

 

 

 

 

 

 

 

 

 

 

 

7.  Solve:  ςὼ ρ ρυ or σὼ τ ρ 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q: What has three feet but no legs or arms? 


